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— R¥7 1297 11237 QAN
There it is a statement following a statement.

OVERVIEW

There is a dispute in our X113 whether the vx may be reused after the 52 was
Svan the va. 1" maintains that the v3 may be reused. It is not clear if he
maintains that the V3 may be reused in all circumstances, even if the Hva
specifically stated that he is being Pvan the va itself. Or does he maintain that
the U3 may be reused only if it was a general 711°2 and it was not sufficiently
clear if he was van only the MW or if he was 2van the vi itself. mooin will
be discussing this issue whether the %¥a has the ability to be ?van the v
itself, so that it may not be reused.

= 910132 1N Y1992 1912 1D2aNRT ¥YIWN PYHN TINN
From the syntax of the X3 it would seem that even if he explicitly
nullified the v, not only the Mmm%w, nevertheless the wv) itself is not
nullified, and it may be reused.

moon will now explain how this is indicated in the &723:
= NI 927 91227 ONN IMNPIN

Since the X713 says that the reason why *"'7 maintains by 7"217°p that she may
retract, is because there by w1 7P it was a m13°7 that followed a previous

M12%7. Therefore the latter 712°7 can nullify the former.
= IYYNI 91227 NN NI 9127 9227 IND NINT yWn

This indicates that here by a v, it is not one 9127 following another

71237 but rather it is a 9123°7 that follows an action of writing the 7nw> v3;
therefore there can be no ?v°2 of a nwyn through M2°7 (alone).

mooin offers an additional proof that even a specific 711°2 will not be effective:
= H0aY N5 I PRT YNPYN DIV XP 1) N9 VI INIRPII BN

And additionally we may infer that vx7 70°2 is ineffective, since the X7
states ‘was he Suan the vx itself?!’ This indicates that he does not posses
the ability to nullify the v3 itself. If he would have the power to be 7021 the v3, then
how can the X713 claim "2°v2 Xp >» 71991 v3'; he was indeed Pvan the 03 for he said w2 71 VA
X17. Therefore we are to understand the phrase ™°0a Xp *» 7913 V)’ to mean ‘can he be
%van the va!?’
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mMooIN presents an opposing view:
= MPIND AT DD OV PN (210,03 97 MIND Y92 PWITIPA AN

However in Pw7p ndon in the beginning of =n»IN7 p7o, this lengthy

answer does not appear there. The x 23 in Pw17°p asks the same contradiction as
here between 1" and "7 and the X3 there does not answer as we do here, 7127 and'
P02 RPN PO RV DY RIM X M. The R does not mention either of the two
phrases (X7 712°7) M2°7 or 2°12 Xp °» 7°91 Rw°3) which we used to prove that he cannot be
Svan the va itself), but rather —

= 1PHVA KXY V) HNHNN MNPHY NNINN NPDVAYT NI D990 Y3 1IN

It is written in the text of all the M=%y in YU TP ‘granted that he
annulled him from being a m°%w, but he did not annul the legality of the

v’ This last phrase —
= DVA% 19N 29 NN YWI92 1YV] ONT YNRYN

Indicates that if he indeed nullified the wvx specifically, then 1" would
agree that the v3 is ®¥2 and may not be reused.'

mooIn offers his view:
= AYNRN 1Y 99N NOW 19T DD NWYN 2SUN KD VIT 9D P98 199

And it is necessary to agree to this latter opinion; that one can be Hvan the
v) itself for a written wva itself is not considered an accomplished deed
(which would prevent a 112°7 to be Hvan it) as long as it did not reach the

woman’s ‘hand’; therefore it itself can be nullified.
- 995 1YY NYY 295 SWUPIN 597 INY INT

For if it is not so; but rather the writing of the v3 is considered a nwyn, there
will be a difficulty to nww 29 who maintains that the va itself is S0, as we

. . 2 . . .

explained previously”. If a written 03 is considered a mwyn then everyone would
agree that it cannot be v2. The only way we can explain nww 11 is if we maintain that a
written 03 is not a 7wy 3.’

Mmoo anticipates that there may be additional support for this opinion, and rejects it.
= NY92 DNHNI DI%2 AN 23N (x,m )’ P92 YINPT)

And from that which the X132 states in the second P99 concerning a v3
that was written by day and signed the following night -. The mwn there

' The phrase 7702 X 3 nMMx indicates a fact, that he was not Yvan the va. He only intended to be van the
mhw. If however he would be specifically 2van the 03 it would be P02, The phrase 2°v2 Xp °» 7°513 Xu), on
the other hand, indicates a ruling that he cannot be 021 the va.
2 nww 21 A" maon.
? See “Thinking it over # 2.

2

TosfosInEnglish.com



ani "7 'on 2,27 1wl .7"02

states that such a v3 is 2109; however 1W»Ww °27 maintains that it is 9w2. Concerning the
opinion of w"7 the X n3x there qualifies —
= D9 NIV 192UNT D NIVY 1Y 1991 IYNY %39 9PWON NYT

that @' did not say that such a v is 9w> if the time between the 7712°n2 and
the 7 nn extended from now until ten days later. In this case "2 would
agree that the vx is 709. The reason is for we are concerned that during

such an extended period of time perhaps he was appeased -
= D513°39 Y975 VIN NN YV NNY YYD

The explanation of 0> Xnw is that perhaps he was ®va» the ux as the n''-

explained the meaning of '0»0 Xnw'. We see that, according to the n"9, he can be 5van
the i itself.

mooIN rejects this proof:

— 72 P93 MPYIIDTI AINT PN
This is no proof that he can be van the vi itself, as I explained in the
second 4pﬂb

mooin offers an additional rejection of this proof:
= YYN ) YN KXY ONNI XYT ONN RNDYT T

And furthermore perhaps we can say that there since the vi was not

signed yet it is not considered as a completed deed and therefore one can be
Svan such a v). However where the vx was already signed, there can be no v 2102,

SUMMARY

There are two opposing viewpoints whether according to 1"9 the 5v2 has the
ability to be Hvan the v.

Those who maintain that he does not have the ability, find support from the
text of our X723 which states: a) 'R 127 M2°7 ana'; this indicates that our
X3 is Twym 127 and all agree that mwyn Hvam M7 PR K?; and b) R
102 Xp °n 79N, which indicates he does not have to power to be Hvan the va.
Those who maintain he can be %9an the va itself should he so desire, find
proof from the X027 in PWITRP which states: v nnn MMHw NN 725027 M’
'HY2 XY; indicating that he was not Hvan the v, but not that he cannot be

* See xnw 71"7 2,m Moo, There N2 explains that the meaning of L7 NX Y121 0 KW is that he was “ban
the appointment of the 07 to sign the v3. The 3 itself may still be valid and he may appoint other
witnesses to sign it, ¥""y.
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2van.

The crux of the issue is whether v N2°N3 is a AWYA or not. NMOOIN states that
he has already proven that it is not a 7wyn since W"7 maintains W21 717 11K
2.

The proof from 05 Xnw was rejected, either because there he is only being
Svan the 0°7v, not the v3; or there it is not a Awyn M3 since the VA was not
signed.

THINKING IT OVER

1. Would the explanation concerning the dispute between 1"7 and nww 27, if
12 WM N7 or not, be the same, whether we maintain that according to 1"
he cannot be Svan the vy at all regardless, or if we maintain that even
according to 1", if w1792 191°1 then it is 2v2?

2. How is mpoin proving the opinion of 1™ from the opinion of w"?’
Perhaps the dispute between 1"7 and w"? is whether a written Vi is
considered mwyn (13)?2°

3 See footnote # 3.
% See mwn noma.
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